Analysis of X vs Time graphs
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SLOPE = rise/run, but on an x-t graph, that means it is x/t, which equals…….

1.  Determine the object’s average speed and average velocity for the 15 second interval that is shown.  SHOW ALL WORK!

2. Calculate the slope: (show work!) 

a. for the first five seconds? 

b. from 5 to 10 seconds? 

c. from 10 to 15 seconds? 

3. What does the slope of this graph determine? 

4. What are the units of the slope? 

5.  What is the slope at t=2.0 seconds?  Is it the same at 3.0 seconds?

6. During what interval is the object at rest? 

7.  During what interval is the object going the fastest?
